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0 1 0 —1 i
1. If A = and B = then which of the
1 1 1 0
following is correct ?
A. (A+B) . (A-B) = A% + B?
B.(A+ B).(A—- B) = A* - B?

C. (A+B) . (A-B) =l


https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_7mvdxI0Qzddk

D. None of these

Answer: D

° Watch Video Solution

0 —tan % ' ' . .
2.If A= N and | is the identity matrix of
cosa —sina | .
order 2,7?=(I-A) [ ] ] is equal to
sina  cosa
A A
B. |
C.I+A

D. None of these

Answer: C



https://dl.doubtnut.com/l/_7mvdxI0Qzddk
https://dl.doubtnut.com/l/_u4CW4hhsjGWo

I o View Text Solution

3 If A 21 th
' -1 —2) =
T+2A+3A% 443+ ... oo equals

A 4 1

—4 0

8 3 1

-4 -1

c 5 2

| -8 -3

5 (5 2

| -3 -8
Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_u4CW4hhsjGWo
https://dl.doubtnut.com/l/_7ETYnxHl4U9J

4. If A= then the value of A% — 642 + 7A + 21

N O =
S N O
w = N

Al

B.O

C.—21

D. 21

Answer: C

° Watch Video Solution

10
5.If A= [1 1] then A" is equal to


https://dl.doubtnut.com/l/_k4MCMFJo2QTp
https://dl.doubtnut.com/l/_0o52O5E9V4pe

A2" YA — (n—1)I
B.nA —(n—1)I
2" A+ (n—-1I

D.nA + (n —1)I

Answer: B

° Watch Video Solution

4 6 -1 2 4 3
6. If A = 3 0 2 |,B=|0 1land C|1
1 -2 5 -1 2 2

thenthe expression which is not defined is

A A2 +2B - 24

B.CC


https://dl.doubtnut.com/l/_0o52O5E9V4pe
https://dl.doubtnut.com/l/_iXGYAOMrcv92

C.B'C

D. AB

Answer: A

° View Text Solution

7.1f p,q,r are 3 real numbers satisfying the matrix equation

3 41
[p.ar] |3 2 3| =[3,0,]then2p+q-isequalto
2 0 2
A —3
B.—1

C.4

D.2


https://dl.doubtnut.com/l/_iXGYAOMrcv92
https://dl.doubtnut.com/l/_utWVUj2vacEr

Answer: A

o View Text Solution

8.IfA=|
) 12 «

2 3 .
and det (A ) =125 then « is equal to

A +£1
B.£2
C.£+3

D.£5

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_utWVUj2vacEr
https://dl.doubtnut.com/l/_wNzuo4Kp5xe0

cosr —sinz 0
9. If f(x) = sinz cosxz O and g(y) =

0 0 1
cosx 0 sinz

0 1 0 |then[f(z)g(y)] "isequal to
—sinz 0 cosz

A () g(y)
B.f(z ")g(y™")
C. g(y) f(x)

D.g(y ') f(z™")

Answer: C

° View Text Solution

2 5 9

10.The trace of the matrix A | 7 —5 3| is equal to
2 6 8


https://dl.doubtnut.com/l/_NHSNwTBTo3Ck
https://dl.doubtnut.com/l/_hQqDMF2qWw8J

A.6

B.5

C.3

D. None of these

Answer: B

° Watch Video Solution

1 2 -1
MmifA= | —1 1 2 | then det {adj (A)} equals
2 -1 1
A. (14)*
B. (13)?


https://dl.doubtnut.com/l/_hQqDMF2qWw8J
https://dl.doubtnut.com/l/_Yi9ibjYAVUXL

D. (13)*

Answer: A

° Watch Video Solution

12 If A and B are square matrices

A? = A, B?> = Band AB commute, then

A (AB) =1
B.(AB)’> = AB
C.(AB)* =0

D. None of these

Answer: B

such

that

r. Y


https://dl.doubtnut.com/l/_Yi9ibjYAVUXL
https://dl.doubtnut.com/l/_1Qa5y5T56bWL

| " VIEW ICXU S01IUtion

1 -1 1

B.IfA=|2 1 -3 and A 1= —

1 1 1

then «a is equal to

B.5

C.2

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_1Qa5y5T56bWL
https://dl.doubtnut.com/l/_ezzhxq81iNg7

1 2 2
14.1f3A= |2 1 —2]| and ATA = AAT = | then Xy is

x 2 y

equal to

B.1

C.2

Answer: C

° View Text Solution

15. If A and B are 3 x3 matrices such that

A? — B* = (A — B)(A + B) then


https://dl.doubtnut.com/l/_lQgQSO6oBDUE
https://dl.doubtnut.com/l/_DJJXD9EwLgCM

A. either A or B is zero matrix

B. either A or B is unit matrix

C.A=B

D. AB=BA

Answer: D

° Watch Video Solution

16.1f x =cy + bz,y =az + cx and z = bx + ay , where x, y and z
are not all zero, then a® + b* + % is equal to

A. 1+ 2abc

B. 1- 2abc

C. 1+ abc


https://dl.doubtnut.com/l/_DJJXD9EwLgCM
https://dl.doubtnut.com/l/_ZClCDxaIvf7v

D. abc-1

Answer: B

° Watch Video Solution

1 2 2

1
17.1f A = 3 2 1 —2/{ isan orthogonal matrix, then
a 2 b

A. a=1,b=2
B.a=-2, b=1
C.a=3,b=-1

D.a=-2,b =1

Answer: D

I o Watch Video Solution


https://dl.doubtnut.com/l/_ZClCDxaIvf7v
https://dl.doubtnut.com/l/_0gyjwX8OT2Ln

1 2 3

18. The matrix | 1 2 3 is
-1 -2 -3

A. idempotent

B. nilpotent

C. involutory

D. orthogonal

Answer: B

° View Text Solution

cosa —sina

19.IfA=[ )
sina cosa

] and A+A =| then the value of a is


https://dl.doubtnut.com/l/_0gyjwX8OT2Ln
https://dl.doubtnut.com/l/_KElo3lcnadz2
https://dl.doubtnut.com/l/_8IuczVfukMxY

Answer: B

° Watch Video Solution

3 -3 4
20.fA= |2 —3 4|,thenAd ! =
0 —1 1
A A
B. A2

C. A3


https://dl.doubtnut.com/l/_8IuczVfukMxY
https://dl.doubtnut.com/l/_ifzeey7sPspU

Answer: C

° Watch Video Solution

1 -1 1 4 2 2
2l.letA=]2 1 —-3|and10B=|—-5 0 a«a] .IfB
1 1 1 1 -2 3

is the inverse of matrix A then a equals

B.1

C.2

D.5

Answer: D


https://dl.doubtnut.com/l/_ifzeey7sPspU
https://dl.doubtnut.com/l/_g64KD4aBpZ0W

o View Text Solution

22.If A is skew-symmetric and B =(I — A) "'(I + A) then B
is

A.singular

B. symmetric

C. skew-symmetric

D. orthogonal

Answer: D

o View Text Solution



https://dl.doubtnut.com/l/_g64KD4aBpZ0W
https://dl.doubtnut.com/l/_yrg8jvSoZMKb

23. Let a,b,c be positive real numbers. The following of

equation
T 52 . 2 2 2 . 2 P 52
w B 2 @& wmla v ewta
=1has

A. no solution
B. unique solution
C. nfinitely many solutions

D. finitely many solutions

Answer: B

° View Text Solution



https://dl.doubtnut.com/l/_BtyWilWtQDbr

24.The equations x + 2y +3z=1,x-y+4z=0and 2x +y + 7z

= 1has

A.only one solution

B. only two solutions

C. no solution

D. infinitely many solutions

Answer: D

° Watch Video Solution

25.If the equations a(y+z)=xb (z+x)=yandc(x+y) =z

1 n 1 N 1
1+a 1+b 1+c

have non-trivial solution, then is

equal to


https://dl.doubtnut.com/l/_u9dbOTbNNlXz
https://dl.doubtnut.com/l/_4TrT9b15fTl5

Al

B.2

Answer: B

° View Text Solution

26.The value of A such that the systemx -2y +z=-4,2x-y

+2z=2andx+y+ Az=4

has no solution, is

A.O

B.1


https://dl.doubtnut.com/l/_4TrT9b15fTl5
https://dl.doubtnut.com/l/_Rat8G2aJ2hYP

C. #1

D.3

Answer: C

° Watch Video Solution

27. If the system of equations
x—ky-z=0,kr—y-2 =0,z +y-2 =0 has a non -zero

solution then the possible values of k are

A. 0,1
B.1—1
C.—1,2

D.2, — 2


https://dl.doubtnut.com/l/_Rat8G2aJ2hYP
https://dl.doubtnut.com/l/_c5yKO8TW7K40

Answer: B

o Watch Video Solution

Bitsat Archives

1LIfw( # 1) is a cube root of unity of

1+ 2w w? 1
A= 1 1+ 2w w then
w W2 9 4+ 100 | 9,200
A.Ais singular
B.|A| # 0

C. Ais symmetric

D. None of these


https://dl.doubtnut.com/l/_c5yKO8TW7K40
https://dl.doubtnut.com/l/_wbesFedl6Wjn

Answer: D

o View Text Solution

-5 —8 0
2IfA=( 3 5 0 | thenAis
1 2 -1
A.idempotent
B. nilpotent

C. involutory

D. None

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_wbesFedl6Wjn
https://dl.doubtnut.com/l/_D8AAvDaiA4D8
https://dl.doubtnut.com/l/_14rmrVpMdw0N

3. If A 51 d [ L0 th th t
. =l _{ o| @ =10 1 en the correc

statement is

AA?2+54—-T=0
B.— A2 +54+7 =0
CA>—-5A+7 =0

D.A2+5A+T7 =0

Answer: C

° Watch Video Solution

4. If A= (a,ij) 0 where a;; = 1 + jthen Ais equal to

2 X

[ 0]


https://dl.doubtnut.com/l/_14rmrVpMdw0N
https://dl.doubtnut.com/l/_4LiKASb9moof

1 2]
B.

1 2]

1 47
C.

3 3]

2 3]
D.

3 4]

Answer: D

° Watch Video Solution

1 —
5. If A= [4 5 ] and f(t) =t> — 3t + 7 then f(A) +
3 6 |.
is equal to
—-12 -9
1 0]
A.
0 1]
0 O]
B.
0 0
0 1]
C.
1 0
1 1]
D.
0 0,



https://dl.doubtnut.com/l/_4LiKASb9moof
https://dl.doubtnut.com/l/_YzNTo8NwO6I5

Answer: B

o Watch Video Solution

2 -1
6.If A= [_ 1 9 ] and | is the unit matrix of order 2 then
A? equals
A. 4A-3|
B. 3A-4l
C. Al

D. A+l

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_YzNTo8NwO6I5
https://dl.doubtnut.com/l/_LPxlhe1LblRl

7. Let A be orthogonal and non-singular matrix of order n,

then the determinant of matrix (A — [,,) is equal to
A |l, — A
B. |A||l, — A|
C. |A|

D.(—1)"|Allln — A|

Answer: B

° View Text Solution

5 —2
8. The inverse of the matrix [3 ] is

1
A1 1 2
"11| -3 5


https://dl.doubtnut.com/l/_VFXao1Ixh60X
https://dl.doubtnut.com/l/_vUF6UPj2UquC

o[ 7]
)

1 3
-2 5

Answer: A

oo|"‘

o N
M =

o Watch Video Solution



https://dl.doubtnut.com/l/_vUF6UPj2UquC

